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MATHS

BOOKS - VGS MATHS (TELUGU)

DO DOTONO0

1. ABCD HA3X0855 zﬁé)éaz)asoé‘ BC, CD © &g
2)0C0eN SHH™ L, M 9003 AL, AM o

AB, AD ©¢5° §é>‘§‘&oé.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IyWCIiC006rk

° Watch Video Solution

2. ABCD H370e56 éé}é)z)a:oé‘ BC, CD ® 06§

20 en JHHm L, M €9000e3.

AM = MAD — LM 0093 XA  deNSD

23808,

o Watch Video Solution

3. A ABCS AB, BC, CA® 3065 20N

SHI™ P, Q, R. 'D' R 20D €900e3,


https://dl.doubtnut.com/l/_IyWCIiC006rk
https://dl.doubtnut.com/l/_Avr9jwULbBTN
https://dl.doubtnut.com/l/_uB3BV1n7B3Me

DA+ DB+ DC& DP, DQ, DR of

éﬁééaﬁo&.

° Watch Video Solution

4. N\ ABCS AB, BC, CA® 3065 20cDen

SHI™ P, Q, R. D' R 20 €900e3,

PA + QB + RC = & ©00d, a & 3&03)0é.

° Watch Video Solution



https://dl.doubtnut.com/l/_uB3BV1n7B3Me
https://dl.doubtnut.com/l/_VLIgdIdOOj1H

5. a=1+2j+3k b=3i+] e»n%0d,

@ + b OIS 05 HAID $:03)08.

o Watch Video Solution

6. DOIeD —3i+45+ Ak, pi+ 85+ 6k

HBLAPBS, A, poH 380,

o Watch Video Solution



https://dl.doubtnut.com/l/_myvXlalG20LT
https://dl.doubtnut.com/l/_R98Hwb0QjE0M

7. H052528 ABCD €5 AB, AE, BC, DC, ED, AC®

S0B0 AAC 9020, A e 3805)08.

° Watch Video Solution

8. A B, C DotddHo P dBI HHIM
— 2+ —k, —4i + 25+ 2k, 65 — 35 — 13k
098, AB = AMAC @00d, A deDID

§cﬁ)‘§5&oc§>.

o Watch Video Solution



https://dl.doubtnut.com/l/_om3efyc3j7m9
https://dl.doubtnut.com/l/_JUo7puYhUd5m
https://dl.doubtnut.com/l/_Lvh6rrHOP7aI

0. A=7i+j+k AB=3i—2j+k,
BC =i +2j — 2k, CD =2i+ 7+ 3k

€900 'bar(0D) HAID 3e03) 0.

o Watch Video Solution

10. a=2i+5j+k b=4i+ mj+ nken

3% HAIPB, m, n O 30S)0k.

° Watch Video Solution



https://dl.doubtnut.com/l/_Lvh6rrHOP7aI
https://dl.doubtnut.com/l/_DQx1icMb2zCx

. a=2i+ 45 — 5k, b=1i+j+Ek,
¢ = j + 2k 09008, a + b + ¢ DOID 9DINVY

B3I AT SBFD 350808

o Watch Video Solution

12. 37 + 55 + 2k, 21 — 37 — 5k,
—5i —2j+ 3k DS R Bgdzo,

QoI TV BZDEI0 €95)DOTP ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bHeb3KjIbxQK
https://dl.doubtnut.com/l/_ENp6pwfZhf24
https://dl.doubtnut.com/l/_kcpj7QjjO3dd

13. 30 — 65 + 2k DOF AIFDE OPOS A)3
&3S a, B, T 3(9030@0, Cos @, COos [3,c0S 7y

05 308)0k.

o Watch Video Solution

14. (1, 3, 2) (3,5 1) gybow D0 DBF0D

AEFOTFOS B SErersh 360%)00.

° Watch Video Solution



https://dl.doubtnut.com/l/_kcpj7QjjO3dd
https://dl.doubtnut.com/l/_A5TFK3HbeNry

15.a +b+¢=ad,b+c¢+d = fBa,a,b, bar
C bar a + bar

b + bar c+ bar d= 0" @9 37D 0c%.

o Watch Video Solution

16. a, b, c e 95D HAIVS &3 308 Tentd
2)ocDYen H5AASTOD QPV0R.
—EL+45:35,3EL+25—5E,-3 bar a + 8 bar

b-5barc,-3bara+2barb +barc

° Watch Video Solution



https://dl.doubtnut.com/l/_XLnfWE9spAkd
https://dl.doubtnut.com/l/_QE8hwniviKHo

17. a, b, c &0 95)0H DAIVS &3 S0d TeeVDd
2)0C0eN DSDATOD IPD0H. 6a + 2b — ¢,

20 — b+ 3¢c,—a + 2b — 4¢, —12a — b — 3c.

o Watch Video Solution

18. 7, .k 0 BS AEPIFTO J02¢% 0P
SOIBS, 4i +55 +k, —j — k, 31 + 97 + 4k,
— 47 + 45+ 4k o3 oo DosHen

D9 OSPOR I 0C.

o Watch Video Solution



https://dl.doubtnut.com/l/_QE8hwniviKHo
https://dl.doubtnut.com/l/_u3475CfXMynM
https://dl.doubtnut.com/l/_FScn8OoVZems

19. 3, b, c @ @S HOIPS & $08 AN
S HOIO Do $B8Hae D008,

a— 2b+3¢,2a + 3b— 4¢, —Tb + 10¢

o Watch Video Solution

20. a, b, ¢ @0 ©BIOH HOIPH & 08 AN
S HOIO DoHHO $B8Hae D008,

3a — 4b + 3¢, —4a + 5b — 6¢,4a — Tb + 6¢

o Watch Video Solution



https://dl.doubtnut.com/l/_FScn8OoVZems
https://dl.doubtnut.com/l/_IHJStZRTqSBu
https://dl.doubtnut.com/l/_yxCPQM8HD6Jo

21. a, b, ¢ e @S DOIPS & $08 AN
S HOIO Do $B8Hae D008,

2a + 5b — 4¢,a + 4b — 3¢,4a + Tb — 6¢

o Watch Video Solution

22.In the cartesian plane, O is the origin of the
coordinate axes. A person starts at O and
walks a distance of 3 units in the NORTH - EAST
direction and reaches the point P. From P he

walks 4 units distance parallel to NORTH -


https://dl.doubtnut.com/l/_yxCPQM8HD6Jo
https://dl.doubtnut.com/l/_aotECQkdp4UD
https://dl.doubtnut.com/l/_LJer4FAJlxPq

WEST direction and reaches the point Q.

Express the vector OQ interms of i and j

(Observe ZXOP = 45°)

° Watch Video Solution

23.0, A, B, X, Y 2)ocoen OA =a, OB =b
OX = 3a,0Y = 3b edgaep 08 BX, AY,
HOZOD a, b © TPoN0B. 0 P 200

AYSD 1: 3 ADYRS ey BP O a, b oF

000G,

° Watch Video Solution



https://dl.doubtnut.com/l/_LJer4FAJlxPq
https://dl.doubtnut.com/l/_gg0MM1jAdFGN

24. PQ Bprpoed) E Docde) 1 : 2 IS
90950 A0 PQ 3P B Dot R.
QF :FR = 2 :1 eaa'b?geoanp OR D& F 258 Doy
0B PR ¥ EF DAr0t8or €&0tnoidd

D0,

o Watch Video Solution

25. 20 +3j+k 2Doddihore e,
47 — 27 4 3k HDOFH HArosBor HOB OP

HOB° HDIBE0 308)0a.


https://dl.doubtnut.com/l/_gg0MM1jAdFGN
https://dl.doubtnut.com/l/_837MiGxCFzLv
https://dl.doubtnut.com/l/_kkIalUkgXzZc

° Watch Video Solution

26. OABC H3r085% zﬁé;é%)a»,oes‘ OA = a,
OC = ¢, ®oned BC 39 DO JadIGErq)

§<6)%‘2)oc%.

° Watch Video Solution

27. A, B, C Dochaden 235 §zhas Jo)en. a°¢3
gmé HEID 00 @, b, ¢ 90N A HOTE 0D

01 B DO HAIBEPQY) $08)0%.

| e |


https://dl.doubtnut.com/l/_kkIalUkgXzZc
https://dl.doubtnut.com/l/_Ck07XYR6gEJK
https://dl.doubtnut.com/l/_oC0kgqGJSuV2

& Wwatch Video Solution I

28. 27 + j + 3k, —4i + 3j — k Doted

5902 09 HOB HDITEPQ) 380S)06.

o Watch Video Solution

29. 7 — 2j + 5k,—57 — k, — 37 + 55060

tHOT DG 900 HAF® DAIGEP) §<63§2o&.

° Watch Video Solution



https://dl.doubtnut.com/l/_oC0kgqGJSuV2
https://dl.doubtnut.com/l/_psk3QC5WwY7e
https://dl.doubtnut.com/l/_EuTi7cl0mSB6
https://dl.doubtnut.com/l/_l8xpWwFAFcWh

30. (0,0,0),(0,5,0), (2,0, 1) 200¢0HH® HOTE AP

00 HOF HAIEETR) 8e03) 0.

o Watch Video Solution

3. a, b, cen 9990 DOIED 90N,
2a + 3b — ¢, 3a + 4b — 2¢ DoNHOD ¥
39, a—2b0+3¢ a—6b+ 6 20O

5992 80 906 oINS 380S)0k.

° Watch Video Solution



https://dl.doubtnut.com/l/_l8xpWwFAFcWh
https://dl.doubtnut.com/l/_Qajb1v9wVtHB

32.47 — 35 — k, 31 + 75 — 10k, 25 + 55 — Tk
200H® TAT V0D V0 BT DDIBE0
S08)D, 1+ 2] — 3k Doy, & B

GOENOND WPN0R.

° Watch Video Solution

33. 083 a=2i+3j+k O3S 05005

DI H0S)0k.

o Watch Video Solution



https://dl.doubtnut.com/l/_v7kfqKf25JUm
https://dl.doubtnut.com/l/_nLTXBdZugmvO
https://dl.doubtnut.com/l/_4X6zsl2DsjHR

34, 3OF a = i — 2jOIS 7 APAE) DBXPE0

HONS 208 HOFBD S8 0cd.

° Watch Video Solution

35.a0 = 27 + 27 — 5k, b = 27 + j + 3k HOI

DI BIT R 0D HAIL 30S)0k.

o Watch Video Solution



https://dl.doubtnut.com/l/_4X6zsl2DsjHR
https://dl.doubtnut.com/l/_TrLAe391Wtrd

36. 903 a = i + j — 2k B3, BF o

TR, FY0° T 5 S0 rfeacd Banods.

° Watch Video Solution

37. P HOIOD OP = 3a — 2b,
OQ =a+b ™ #IRS B0 Do P, Q
0 ADT0A. P, 0 0D 95 HEF3DD 2 : 1

IQBE’ (i) ©905B0mPD,

o Watch Video Solution



https://dl.doubtnut.com/l/_Ui62yF7E7AxE
https://dl.doubtnut.com/l/_6XQRWFpXYWU3
https://dl.doubtnut.com/l/_kYrOguMFKzrt

38. S ddFoH  OP =3a- 2,
OQ =a+ b ™ #INS B0 DocvHen P, Q
O SR, P, 0 9 ¥ HEFODD 2 : 1
DA (i) 2rErrrcd 523055 Dochsd R S

DI 308)0k.

o Watch Video Solution

30, A (2t —j+k), B(—3j—5k), C(
37 — 45 — 4k) DocdHen 2¥ ©0n%eH ' FeHao

%0'230&’) S°HOG.

o Watch Video Solution



https://dl.doubtnut.com/l/_kYrOguMFKzrt
https://dl.doubtnut.com/l/_jg7Q8H8rjlF2

40. A,B, C, D 20t ) DRBLD DI

a+ 2b2a — b3a+b ©wonsd AC, DA, BA

BC 58308 a,b ©¢ 7eaHhod.

o Watch Video Solution

41. ABCDEF Z0 ) 5080 'O eowd

AB+ AC + AD + AE + AF = 3AD = 6A0

09 APN0G.

o Watch Video Solution



https://dl.doubtnut.com/l/_jg7Q8H8rjlF2
https://dl.doubtnut.com/l/_G6Awkp6nkxgh
https://dl.doubtnut.com/l/_kr3R5FG0A5f3

42. If O is the circumcentre, 'H' is the

orthocentre of triangle ABC, then show that

OA + OB+ OC = OH

o Watch Video Solution

43. If 'O' is circumcente and 'H' is orthocentre

of AABC, then


https://dl.doubtnut.com/l/_kr3R5FG0A5f3
https://dl.doubtnut.com/l/_rwgVqfnCadLv
https://dl.doubtnut.com/l/_7wLP9DdRuc9R

List-I List-II
A) OA+0B+0C 1) ;HO
B) HA+ HB+ HC 2) 2HO
C) AH+HB+HC 3) 240
D) O 4) +OH
5) OH

Wl

N—" SN N N

QS

The correct matching is

o Watch Video Solution

44. @, beo HO0YOTTD P DAI. 3a = 28
WONPIEY @ = (z +4y)a+ (2z +y + 1)b,
B=(y—2x+2)a+ (2x — 3y — 1)5&0@3,&

y O 880%)08.

| = 1


https://dl.doubtnut.com/l/_7wLP9DdRuc9R
https://dl.doubtnut.com/l/_HS0XTXQC054R

I &9 Watch Video Solution I

45.a, b, ¢ &0 e9$H0HOOIBE, —2a + 3b + 5¢,
G+ 2b+3¢ 72— ¢ O P ddI™ i

200D HEDOIFO IPH0G.

o Watch Video Solution

46. (3i —2j — k2i +3j — 4k,—1 + j + 2k
4i 455 + Ak J0I0% TS ddIeor
20cHYeD DSDATBB A Jewd = — £76 €9

SPH0G.


https://dl.doubtnut.com/l/_HS0XTXQC054R
https://dl.doubtnut.com/l/_zItDNS56TLNi
https://dl.doubtnut.com/l/_KuQr258JlJwc

° Watch Video Solution

47. BOONT SO0, HEF DO OO0,

QEFOTPO DS @, b 9058 DOTEED B2 OD

530%830 % + Y 1 wHHosa GHad

b
SOD0CG.

o Watch Video Solution

48. 30 20NN Hoe V0D DIF0D DO

DAIEPS) G dIrNoD, a, b (3a — 2b) ©D


https://dl.doubtnut.com/l/_KuQr258JlJwc
https://dl.doubtnut.com/l/_wq0KCpIpvzTG
https://dl.doubtnut.com/l/_S0IMGi1aqjpO

g»é SOFen o Dochen DRSO

02z B0H0A.

° Watch Video Solution

49, 27 — j + 2k HOFH HAT0SBOTP 0L,
3i + 7 — kS Q"é DOIP ZIAS Doy A
o 0D B HOT HAIGEPQ) 30S)0k.
AP = 15 90306 82 3PN P 093 Docded)

0B, P S DB 3:08)08.

° Watch Video Solution



https://dl.doubtnut.com/l/_S0IMGi1aqjpO
https://dl.doubtnut.com/l/_EUS6DrfDGVTe
https://dl.doubtnut.com/l/_InVl0xyirbis

50. @, b, cen 9SH0H OIS, 6a — 4b + 4c,
—4¢ Do ¥9H O, —a —2b— 3¢
a + 2b — 5¢ 200D 39D 39O DO

200N — 4¢ 9 PN,

° Watch Video Solution



https://dl.doubtnut.com/l/_InVl0xyirbis

